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#6 (a,c,e,g) USE distributive Property
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#6 (a,c.e,g) USE distril ao
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= 661

(129) x (#23)= (*‘(’ﬂ)
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Dividing Integerf‘

(+7) x (+4) = (+28) so we also know that (+28) 7)) =(+4)
and (+28) (+4)=(+7) (+28) + (+4) = (+7)

(+5) x (-8) = (-40) so we also know that (- 40) =(-8)=(+5)
and (-40) £ (+5)=(-8)

(-9) x (+3) =(-27) so we also know that (-27) %£+3)=(-9)
and (-27) +(-9) =(+3)

(-6) x (-2) = (+12) so we also know that (+12) £-6) = (-2)
and (+12) (-2) = (-6)

From the above information, what can you determine about
(a) a positive divided by a positive? ] _
the answer will always be positive (+)T(+) - (+)

(b) a positive divided by a negative? (+)+ (_) — (_)
The answer will always be negative

(¢) a negative divided by a positive? _
The answer will always be negative (')T('l') = (')

(d) a negative divided by a negative? (_)+(_) — (.|.)
The answer will always be positive.

Quotient is the number that results from the division of
one number by another.

24+3=8__

quotient
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< ()= =2

Rethink to multiplying if struggling

)x( )=
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Divide the following using rules:

a) (-21) = (+7) b) (-45) + (-9)
7 N2
AL &£ Soame

-3 +5

September 13, 2022

c) (+24) = (+2)

"

Soame

+12L
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39 )+ O o 7
= #4(a,b,c)
#5 NO MODELLING
#6(a,c,e)
#7300, b(i) Just Use Rules
#8(a,c,e) o
Page 74-75 ( 2\( ) =
#9, #11,#13, #18 3%t cums

Quiz
*on multiplication modelling with tiles & rules & Box Method

*Division Rules
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